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Year 10 Triple Science - Homework Plan Science

Week/Date Homework Task Examination Question

Week 1
5th September

Cornell Notes on biotic and abiotic
factors affecting ecosystems Answer the exam questions on food

webs.

Week 2
12th September

Revision Cards on pyramids of
biomass. Answer the exam questions on

pyramids of biomass

Week 3
19th September

Cornell Notes on food security
Answer the exam questions on losing
biomass and food security.

Week 4
26th September

Revision Cards on alkali metals
Answer the exam questions on Alkali
metals

Week 5
3rd October

Cornell notes on the transition
elements Answer the exam questions on

transition elements

Week 6
10th October

Revision Cards on nanoparticles and
their uses. Answer the exam questions on

nanoparticles

Week 7
17th October

Cornell Notes on red shift
Answer the exam questions on the
formation of stars





WEEK 1
Date…………………………………………….

The diagram below shows part of a food web.

(a)     There are four levels of feeding relationship shown in the food web in the diagram above.

Algae are at level 1 in the food web.

Why is it difficult to identify the level of the loggerhead turtle in the food web?

___________________________________________________________________   (1)

(b)     Explain the effects a decrease in the population of clams could have on the other organisms in the
diagram above.

Answer:-

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

______________________________________________________________________________________

____________________________________________________________________________________(6)



WEEK 2
Date…………………………………………….

A new dog food has been developed that does not contain meat from cows, sheep or
chickens.

The new dog food contains insects.

The insects in the dog food factory are fed on waste vegetables.

(a)  Sketch the pyramid of biomass for the food chain that produces food for dogs
from insects.

Label the pyramid.

(2)

(b)  Describe two reasons why the biomass of the insects eaten by dogs does not
all become biomass of the dogs.

1  _________________________________________________________________

___________________________________________________________________

2  _________________________________________________________________

___________________________________________________________________
(2)



WEEK 3
Date…………………………………………….

Students investigated a food chain in a garden.

lettuce → snail → thrush (bird)

The students:
•        estimated the number of lettuce plants in the garden
•        estimated the number of snails feeding on the lettuces
•        counted two thrushes in the garden in 5 hours.

The table below shows the students’ results and calculations.

Organism Popul
ation
size

Mean mass
of each
organism

in g

Biomass of
population

in g

Biomass from
previous
organism that
is lost in g

Percentage of
biomass lost

Lettuce 50 120.0 6000

Snail 200 2.5 500 5500 91

Thrush 2 85.0 170 330 66

(a)     (i)      Give two ways that biomass is lost along a food chain.

______________________________________________________________

______________________________________________________________

______________________________________________________________

______________________________________________________________
(2)



Explain how making dog food from insects could improve human food security in the
future.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

_________________________________________________________________(4)



WEEK 4
Date…………………………………………….

The elements in Group 1 of the periodic table are metals.

(a)     The elements in Group 1 are called the alkali metals.

Why are they called the alkali metals?

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
(2)

(b)     Explain the increase in reactivity of elements further down the group.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
(4)



WEEK 5
Date…………………………………………….

In the periodic table, the transition elements and Group 1 elements are metals.

Some of the properties of two transition elements and two Group 1 elements are shown in the
table below.

Use your own knowledge and the data in the table above to compare the chemical and physical
properties of transition elements and Group 1 elements.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

(6)



WEEK 6
Date…………………………………………….

Read the article about the use of nanoparticles in sun creams.

Sun creams

Many sun creams use nanoparticles. These sun creams are very good at absorbing
radiation, especially ultraviolet radiation. Owing to the particle size, the sun creams
spread more easily, cover better and save money because you use less. The new sun
creams are also transparent, unlike traditional sun creams which are white. The use of
nanoparticles is so successful that they are now used in more than 300 sun cream
products.

Some sun creams contain nanoparticles of titanium oxide. Normal-sized particles of
titanium oxide are safe to put on the skin.

It is thought that nanoparticles can pass through the skin and travel around the body
more easily than normal-sized particles. It is also thought that nanoparticles might be
toxic to some types of cell, such as skin, bone, brain and liver cells.

(a) Explain why nanoparticles pass through the skin and travel around the body
more easily than normal-sized particles of titanium oxide.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
(2)

(b) Explain why sun creams containing nanoparticles should be tested further.

___________________________________________________________________

___________________________________________________________________
(1)

(c) Suggest why some companies that make sun creams might not want to do
more tests.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
(2)



WEEK 7
Date…………………………………………….

Astronomers claim that there are about 300 billion stars in the Milky Way.

(a)     Describe how stars are formed.

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________

___________________________________________________________________
(3)

(b)     Use the correct answer from the box to complete the sentence.

Energy is released in stars by the process of nuclear _________________ .
(1)

(c)     State why a star is stable during the ‘main sequence’ period of its life cycle.

___________________________________________________________________

___________________________________________________________________
(1)

(d)     The life cycle of a star after the ‘main sequence’ period depends on the size of the star.

A particular star is the same size as the Sun.

What are the stages, after the main sequence, in the life cycle of this star?

State them in order by writing in the boxes.
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Revision Page



Revision Card on Pyramids of
Biomass

1. What is biomass?

2. What is a trophic level?

3. Evaluate the use of wet or dry biomass
when building pyramids of biomass.

4. Explain the role of decomposers in a food
chain.

5. Explain what happens to biomass as you
move up the food chain.

Answers

……………………………………………………………………………………………………………………………………………………………………

Revision Card on alkali metals

1. Write a word equation for the reaction of
sodium and water.

2. Explain why sodium floats on water.

3. Explain why group 1 elements lose
electrons.

4. Explain the trend in reactivity of the alkali
metals in terms of electron transfer.

Answers

……………………………………………………………………………………………………………………………………………………………………

Revision Card on Nanoparticles and
their uses

1. Describe what a nanoparticle is.

2. Compare nano dimensions to the
dimensions of atoms and molecules.

3. Identify two nanoparticles and their uses.

4. Evaluate the risks and benefits of using
nanoparticles.

Answers




